



DATE: 1/15/2026

TO: **Bev Pennington** Division Manager
The City of Lake Wales / Public Services
 201 Central Ave W.
 Lake Wales, FL 33859
{863} 678-4154

FROM: Asphalt Paving Systems, Inc.
 Randy Shane - South Florida Rep
 9021 Wire Road
 Zephyrhills, FL 33540
 Ph: 813-892-0056

RE: Project proposal
2" to 3" Mill and 2" Overlay, Cape

Product	Description	Units	Quantity	Unit Price	Total Price
	Piggyback Sumter County Contract				
City Supply	AJUSTING MANHOLES (METAL RISER RINGS)	EA	0.00	\$ -	\$ -
City Supply	AJUSTING VALVE BOXES (METAL RISER RINGS)	EA	0.00	\$ -	\$ -
Category E	DOUBLE MICRO	SY	0.00	\$ 7.16	\$ -
	RUT FILLING (If Needed)	TON	10.00	\$ 436.00	\$ 4,360.00
Category D	Cape Seal	SY	12,033.00	\$ 12.06	\$ 145,117.98
Category B	Super Pave 12.5 (2")	TON	2,880.00	\$ 179.77	\$ 517,737.60
Category A	Milling 2" to 3"	SY	26,008.00	\$ 4.25	\$ 110,534.00
Category B	Super Pave 12.5 (4") FDP	TON	130.00	\$ 251.86	\$ 32,741.80
Category A	Milling 4" FDP	SY	591.00	\$ 16.95	\$ 10,017.45
Category L	Pavement Markings				
L-1	White 24" Paint	LF	400.00	\$ 9.66	\$ 3,864.00
	White 24" Thermo	LF	400.00	\$ 12.08	\$ 4,832.00
	White 12" Paint	LF	1,100.00	\$ 4.83	\$ 5,313.00
	White 12" Thermo	LF	1,100.00	\$ 6.04	\$ 6,644.00
	White 6" Thermo	GM	0.55	\$ 6,325.00	\$ 3,478.75
	White 6" Paint	GM	0.55	\$ 3,910.00	\$ 2,150.50
L-3	Yellow 6" Thermo	GM	2.50	\$ 6,320.00	\$ 15,800.00
	Yellow 6" Paint	GM	2.50	\$ 3,864.00	\$ 9,660.00
	Yellow 18" Paint	LF	60.00	\$ 5.41	\$ 324.60
	Yellow 18" Thermo	LF	60.00	\$ 7.25	\$ 435.00
L-4	Yellow Skip Paint	GM	0.70	\$ 1,449.00	\$ 1,014.30
	Yellow Skip Thermo	GM	0.70	\$ 2,415.00	\$ 1,690.50
L-7	Legends				\$ -
	School Paint (Handicaps)	EA	6.00	\$ 184.00	\$ 1,104.00
	School Thermo	EA	6.00	\$ 339.25	\$ 2,035.50
	Arrows Paint	EA	24.00	\$ 46.00	\$ 1,104.00

	Arrows Thermo	EA	24.00	\$ 80.50	\$ 1,932.00
	RxR Crossing Paint	EA	1.00	\$ 241.50	\$ 241.50
	RxR Crossing Thermo	EA	1.00	\$ 425.50	\$ 425.50
	Yield Triangles Paint	EA	4.00	\$ 11.50	\$ 46.00
	Yield Triangles Thermo	EA	4.00	\$ 28.75	\$ 115.00
L-8	RPM's all colors	EA	491.00	\$ 6.04	\$ 2,965.64
L-9	Misc.				
	Removal of existing Marking (Old Thermo)	SF	2,336.00	\$ 3.45	\$ 8,059.20
Category K	VMB	Day	40.00	\$ 32.00	\$ 1,280.00
Category M	MOB				
101-1	Mobilization (Paver)	LS	1.00	\$ 3,500.00	\$ 3,500.00
101-1	Mobilization (Chip and Micro)	LS	1.00	\$ 3,500.00	\$ 3,500.00
Category N	MOT				
102-1	Maintenance Of Traffic	Per Day	24.00	\$ 750.00	\$ 18,000.00
	Contingency if needed (for items not on contract)	LS	1.00	\$ 14,000.00	\$ 14,000.00
*	4 Yield triangles at all Yield signs with 24" solid W				
*	Proposal includes all Labor, and Equipment for all items.				
*	ALL QUANTITIES NEED TO BE FIELD MEASURED				
*	Where asphalt is in gutters: Mill out and do not replace where M/O is being done.			NA	
*	APS is not responsible for damage to gutters from asphalt removal.			NA	
*	Where asphalt is in gutters: Stay out of gutters with Cape and Double Micro				
*	Trees may need trimmed before work can start				
				Total	\$ 934,023.82

Respectfully Submitted,

Randy D. Shane

Asphalt Paving Systems, Inc.

Zephyrhills, Florida

c: 813-892-0056

e: rd.shane@hotmail.com

Accepted By: _____

Signature: _____

Date: _____

* Proposal valid for 30 days.

Project Streetlist

ITEM	STREET NAME	FROM	TO	LENGTH	WIDTH	TOTAL UNITS	UNIT PRICE	Total	M/O
Cape Seal	1st St S	SR 60	Winston Ave	2,850	38.0	12,033.33	\$ 14.56	\$175,205.33	
	FDP mill 4"	160 x 14 and 440 x 7	249+342=591 SY			591.00	\$ 72.00	\$42,552.00	
2" MO	5th St N	Sessoms	N Wales	1,310	21.0	3,056.67	\$ 26.68	\$81,551.87	3057
2" MO			Set Back at Sessoms			200.00			200
2" MO	Seminole Ave	N Wales	Scenic	2,040	21.0	4,760.00	\$ 28.00	\$133,280.00	4760
2" MO	4th St N	Sessoms	JA Wiltshire	1,790	21.0	4,176.67	\$ 26.68	\$111,433.47	4177
2" MO	3rd St N	JA Wiltshire	Kissimmee	800	21.0	1,866.67	\$ 26.68	\$49,802.67	1867
2" MO	Tillman Ave S	RR tracks	Palm tree E Chg Pav	240	21.0	560.00	\$ 26.68	\$14,940.80	560.00
2" MO	1st St S	Central	SR 60	2,000	42.0	9,333.33	\$ 29.00	\$270,666.67	9,333.00
2" MO				200	48.0	1,066.67	\$ 29.00	\$30,933.33	1,067.00
2" MO	Russell Ave	4th St S	DE East	380	21.0	886.67	\$ 26.68	\$23,656.27	887.00
2" MO			Set Back			100.00			100.00
				11,610.00		38,631	Total	\$934,022.40	

T M/O	26,008.00
T CAPE	



Asphalt Paving Systems, Inc.
Randy Shane - South Florida Rep



Zephyrhills, FL 33540

Ph: 813-892-0056

Cape **DM**

12033

12,033.00
T DM 0

6" W skip	Arrows	School	18" W	RPM	R/R	MES	Yeild
-----------	--------	--------	-------	-----	-----	-----	-------

6" W skip	Arrows	School	18" W	RPM	R/R	MES	Yeild
-----------	--------	--------	-------	-----	-----	-----	-------

6" W skip	Arrows	School	18" W	RPM	R/R	MES	Yeild
	18			150			
		2		70			1

6" W skip	Arrows	School	18" W	RPM	R/R	MES	Yeild
							2
				12			
					1		
	6	4		240			
0	24	6	0	472	1	0	3

6" W skip	Arrows	School	18" W	RPM	R/R	MES	Yeild
-----------	--------	--------	-------	-----	-----	-----	-------